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VG((07 0)7 (07 1)) = _pLZ
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2
sh* (ngy) = argmax Zs%(n¢¢)(Ui - 1) (B.35)
si7(nee)€[0,1]2 ;=1

DoDoDO0O00O0.0000,
1 (nge) = (0,1) (B.36)

goooo.ocbobbao,ooobobdooobbbooobbboao,obbobboodd
DDDDDDDDDD,DDDDDDZDDDDD.DDDDDnM:n¢¢DDDDD
ugogboboobooooobooobooanban
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st *(n11) = (0,0) (B.39)
00000.0000,0000000000000000000.000nM=ng
0000000000000 00000O0O0aO,
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s¥*(n1g) = argmax {s%(nw)(rUl—fD—I)+5%~(n1¢)s%(n1¢)(rU2—fD—I)

sit(n14)€[0,1]?
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oooao.
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S%(nl(ﬁ) > prLQD 0o 5’_!["\4*(7"1175) = (17 1)
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prLo <cO O O O
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0000000000000 000000000000O00O0O0O0O0O0O0o0oOGOoaO
0000000000000 00000000000000000000gad
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c<prlo00 O O
3G (ngg) = (0,1)
s (nge) = (0,1)
c>prlod0 O O
8&™ (ngg) = (0,0)
\ st *(ngy) = (0,1)

D0D0000000000000000000VY6Y*(nge) sl (nee)) O

. N —c—prLy:c<prlL.00 O O
VE (8™ (ngg), s *(ngg)) =
—pLo ce>prl0 O O
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siG(n11)€[0,1]2 ;=
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s¢*(na1) = (0,0)
gooo,0oogobobooooobooa
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s¢*(n11) = (0,0)
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gooooogogob.obbguoobugouoogdog
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05(me) = st 0 0 0 s¢*(nag) = (0,V[0,1]) (B.57)
Go(ng) < 5iTpy D 0 0 s&™(nag) = (0,1)
0D00.00,00000000000000000C0000CO0000000O00Da0.
53¢ (n1g) = argmax [—5%;(”1@ {prLasit(nig) + 2c} — 636 (nag) {PLzséwc(anC}} (B.58)
62%(711(;5)6[0,1]
0000000000000 000000,00000000000000000
0000, pile>c0 O O,

shh(nig) > =50 0 0 6¥*(n1g) = (1,1)

prLa
(n1g) = ;0 0 0 68 (n1g) = (1, a3) (B.59)

(1) > ;0 0 0 65 (n1g) = (1,0)
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prLe < cO O O,

¥ *(n1g) = (1,0) (B.60)
00,000a¢€V0,1]000.000000000000aM=ny0000000,0
0000000000000 DODODO0OO0DDDOO0OO0ODDODOOODOOaGO.

pils >c0 O O

3&"™ (n1g) = (1, 525 my)

» 7(Uz+D)
se*(n1g) = (0, 55;)
VA (65 (ng1), s (ngr)) = —c — &

(B.61)
prlo <cO O O

0& (na1g) = (1,0)
& *(n1g) = (0,1)

VAT (04" (ng1), st *(ng1)) = —c — pLy

00000000000 =n,000000000000.000000000
D0oO0oO0O0O0O0O0O0O0O0O0O0O0o0o0o0aon.
s¢ F(ng1) = | Argmax {5%(%1)8%(%1)(7“% — 7D = I) + 615 (ng1) s (ng1) (UL — 1)
s;&(ng1)€[0,1]2

+8M, (ng1)(rUs — 7D — I)} (B.62)
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0 (ng1) > 5350 0 0 sgf*(ng1) = (0,0)
ong1) = 70 0 O s (ngy) = (au,0) (B.63)

0a(ng1) < 5oty 0 0 0 s&™(nga) = (1,0)
O00.00,000m,ev0,lj]000.00,000000000000000000
goooboooooobogod.
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oo ogbooouooooooooo,o0o0boodobooooboondd
godaoao.
pFLy>c0 O O,

s16(ne1) > 50 0 0 6 (ng1) = (1,1)
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prly <cO O O,
0 (ng1) = (0,1) (B.66)
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(B.67)
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nM* = argmax VM (M* (nM), sM*(nM)) (B.68)
nMe{nu,nw,nqsl,nw

000000000000 oDOoooDooDoO- ™OoDoDoo0ooao
prLle > cO O O

ny :r>7f0 00 (r>4000)

nM* = nyy r<r70 0Oc<prl0 O 0O
nge 7 <rTO Oc>prL0 O O
(B.69)

prlo <cO O O,
n11 :2L1<L2,L%§pDDD
N1 :2L1<L2,ﬁ§p<leDD

nM* = N 120 < Lo,p < LQELllj 0o ad

ni :2L12L2,%§<p[||:||:|

L Ngg 22L12L2,%§2p[| g o
(B.70)
uooooooboboobobooboboobobo,obboooboonoan.
prleo>cO O O O
r>r0 00 (r>3000)
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r<70d O c<prl0d OO
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(sigr (n'17), 5567 (n*)) = (0,0)
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2Ly < Ly, = <p0 0 O
(nM*’(S{\é*(nM*)’(sé\é*(nM*)) _ (7111, 1, 1)
(s16 (n™), shé (n*)) = (0,0)

2Ly < Lo, 57, <p< £
(R, 605 (M), 836 (™)) = (ng1,0,1)
(s (n™*), s5¢ (n*)) = (1,0)

201 < Lo,p < ﬁm OO
(™, 03¢ (n), 93¢ (n*)) = (ngg, 0,0)
(3 (M%), 83 (M) = (0,1)
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(s (M), s34 (n¥14)) = (0,0)
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uobooboooboooobboodbao,
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VG]VLk =94 —pLo 0 Case My, M0 O O

—c—plL; OCase M50 O O
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